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‘This paper contains FIFTY (80) multiple-choice/Assertion and
Reasoning/Matching questions, each question carrying two (2) marks.

Attempt ALL the questions.

A8 2 2L WAL v (40) ogRselld uaedl, WFH-vIE A ASsE G-l Nl

B, dxm usiisil FUA QM 8. uds us-n 4 () A B,

Relevant aspects of economic

environment for businéss are :

(A) Political ideoiogy of the
nation .-

(B) Socio-cultural attitude of
ﬁeOple

© Ecdnomic condition of the
couhtry

(D) Legal framework for business

protection

The most important objective of

development planning is to :

(A) ensure a greater degree of
economic equality

(B) achleve hlgher degree of

~ economic growth and

development

(C) greater provisions and
opportunities for capital
formation and investment

(D) increase the levél of

employment
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Which one of the following is not
included under the Consumers’

Rights ?

' (A) Right against exploitation by

unfair trade practices

~ (B) Right to be heard if there is

any grievance or suggestions
(C) Right to get the genuine
’g.rievances redressed
D) Right" to choose the worst

from a variety of offers

What are the drivers of
globalisation ?

(A) International trade

(B) Financial flows

(C) Communications

(D) All of the above

Regulatory environment contains :

(A) Policies related to imports

and exports
(B) Policies related to
distribution and pricing
(C) Cost §f human resources

(D) Both (A) and (B)
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Which of the following is a capital

expenditure ?

(A) Travelling expense of our
engineer sent to Japan for
inspecting a machine to be
imported by us

(B) Annual whitewash of factory
building

(C) Repair of second-hand
.machinery

(D) Annual maintenance cost of

computer systems

A and B ‘are partneré sharing
profits and losses in the ratio of
5: 3 They admit C giving him
3/10th share of profits. If C
acquires 1/5th share from A and
1/10th share from B, new profit-
sharing ratios will be :

(A) 6:6:3

B) 2:4:6

(C) 17 :11: 12

(D) 18 : 24 : 38
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,Capii;alisation of borrowing costs

should cease, when :

| (A) The asset is fully complete

(B) The boi'rowing is repaid in
full |

(C) Substantially all activities for
putting the asset to use are
completed

(D) The asset is capitalized in the
books

. At the time of amalgamation,

purchase consideration does not
include :
(A) Equity shares in the

transferee company issued to

the equity shareholders of

- transferor company
(B) The sum that will be paid
directly to the creditors of the
transferor company by the
transferee company
(C) Preference shares in the
transferee company issued to
the ptjeference shareholders
of the transferor company

(D) All of the above
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10.

11.

12,

A company makes and sells a
single}pfoduct. If the fixed costs
incurred in making and selling the
pi'oduct increases, break even

point will :

; (A) increase

(B) decrease

(C) not change

(D) may or may not change

Which of the following is not

included in Managerial Economics ?
(A) Costs of production

(B) Factors affecting national

product
(C) Nature of supply and demand

(D) Project appraisals

Managerial Economics is :
(A) a study of macro-economic
concepts

(B) prescriptive and not
descriptive
(C) a body of economic principles

(D) same as economics

10.

11.

12.

iyl 1S A5 Astadl oi-ua2 21
Rsusid. 2 il oirlaz A
Rsu-ll RU uSdR afl dl An-q4e-
Bigui 1 :

A) au

(B) H2lsl

© 89 3R Wl

(D) 361 AU ™A -t Ad

QA 40 swedl daadly

eaetnl AAY adl -l :

A) wiarll usd2

B) Wlu-Telad AU Sl
YRowil

(C) Y48t A Hiddl UsR

(D) MiFseqd Heuisd

daafly vfara

A) aule nfaeil vudinl

2R B
(B) s 8, Aty Al

©) vdwnlly Rgidi Wys 8

D vdlw ¥4 8

[P.T.0.]



13.

14,

The demand for a ~commodity is
said to be elastic if the total
amount spent on the commodity
is :

(A) less when the price is low

than when the price is high

(B) the same whether the price

is high or low
(C) more when the price is low
. than when the price is high
(D) .more when the pnce is high

than when the price is low

If two goods are complements,
then a rise in the price of one

commodity will induce :

(A) a rise in the price of other

commodity -

(B) no shift in the demand for

other commodity
(C) a downward shift in the
demand for the other
commodityA | |
(D) an upward shift in the
other

demand for the

commodity
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15.

16.

17.

Marginal costs are most closely  15.

related to :

(A) fixed -costs
(B) variable costs
(C) total costs

(D) total revenue

Which one of the following is not 16.

the part of parametric test ?
(A) t-test

(B) Standard deviation

(C) Chi-square test

(D) Correlation co-efficient

Which one of the following 17.

formulae helps the statistician to

find out f;he cause and effect

relationship  between  an

independent variable and the

dependent variable ?

(A) Trend analyéis (Y = Na + bx)

(B) Ty=Na +bZx,and
Txy=aXx + bXx?

©) r = bxy + byx

(D) £=5g
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18. One investigator collected the

19.

data about the eating habits of the
two villages. He collected the
information from 400 persons of
villagé X and from 300 persons
from the village Y. He found that
200 persons were vegetarians from
village X and 100 peréoﬁs were
non-vegetarians frlom village Y.
Which test should ‘be apply. for
testing the differencé of éating
habits of the two villages ‘7

(A) Chi-square test

(B) F-test

(C) Z-test

(D) Proportions test

Which one of the following is
widely used for data vprocessing
by the statisticians through
computer ? o

(A) Soft skills

(B) MS-Word

(C) Tally

0))] K’rﬁp-Word
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20. When one investigator takes the
sample of 10,000 persons from
New-Delhi for studying the

average income levels of delhites

on the basis of ‘every person
should have equal chance of being
selected’ in sample, then he

should fallow the mechanism of :
(A) Random sampling

(B) Purposive sampling

(C) Biased sampling

(D) Convenient sampling

21. To establish the relationship for

a particular task under the

of

supervisors is known as :

supervision immediate
(A) Unity of command

(B) Unity of direction

(C) Gang Plank

(D) Subordination

22. A person who was awarded Nobel

Prize in the field of decision
marking was/is :

(A) Herbert Simon

(B) Amartya Sen

©) Chester- Barnard

(D) Michael Porter
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24.

26.

27.

Who is associated with process
theory of motivation ?

(A) McCleland
(B) Herzberg

(C) Maslow

(D) Victor Vroom

Grapevine is related to
management of :

(A) Personnel

(B) Grape

(C) Communication
(D) Strategy

The initial committee constituted
for corporate governance in India
was headed by :

(A) Montek Singh Aahaluwalia
(B) Murli Deora

(C) Dhirubhai Ambani

(D) Kumar Manglam

Consumer behaviour means :
(A) Customer behaviour

(B) Customer satisfaction

(C) Consumerism

(D) All of the above

Excess of products pefformhnce

over customers’ expectation
means :

" (A) Customer delight

(B) Customer satisfaction
(C) Customer dazzling
(D) None of the above
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28.

30.

31.

Identify ‘individual purchase 28.

thinking process :
(A) Perception

(B) Altitude

©) L%arning

(D) All of the above

Marketing Mayopia refers to :

A) chial concept of marketing

(B) Customer orientation
(C) Post-modern concept of
marketing

(D) Narrow concept of marketing

Which one of the following is not 30.

the stage of PLC ?
(A) Introduction -
(B) Growth

(C) Promotion

(D) Maturity

The term “core current assets” 31.

was coined by :
(A) Jillani Committee
(B) Chore Committee

(C) Tandon Committee

(D) RBI
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32.

Cost of which of the following

sources of finance is least ?
(A) Preference share capital
(B) Debt financing

(C) Equity share capital

(D) Retained earnings

If a company follows a policy of
keeping its dividend per share

stable although its earnings

fluctuate :
(A) Its payout ratio will fluctuate

(B) Its payout ratio will remain

the same

(C) Its payout ratio will also be
~ stable

(D) None of the above

The theoretical view that the .

dividend policy of a company does
not influence the market value of
its shares is advanced by :

(A) Perfect Market School

B MM ‘
(C) Imperfect | Market School
(D) Both (A) and (B)
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operating

Several positions have been taken
on the relationship between
financial leverage and cost of
capital : Net income approach, Net
income approach,
Traditional position. Modigliani
and Miller (MM) have. restated
and amplified :
(A)

(B)

Traditional position

Net operating income
approéch

©

(D)

Human

Net income approach

None of the above

resource planning

determines the need for :

(A) Appointing and retaining

people

(B) Appointing people and
placing them on the right job

(C) Inviting people to applying

for the jobs

(D) None of the above

Cognitive ability tests include :

(A) Aptitude text

(B) Knowledge text

(C) Simulation exercises

(D) All of the above

In which concept of people are

seen as human beings :

(A) Personnel management

(B) Human Resource Management

(C) Personnel administration

(D) None of the above
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39.

41.

The

knowledge understanding or

process. of increasing

attitude of personnel to make
them get adjusted in their total

work environment is the process
of :

(A) Training
(B) Education
(C) Development
(D) Learning

Identify the correct statement :
(A) Selection is positive function
and recruitment is a negative
function '
(B) Selection

function and recruitment is

is a negative

a positive function
(C) Selection and recruitment
both are positive functions
(D) Selection and recruitment
both are negative functions

An order addressed by one office
of a bank to any other of its
branches or by any one bank to
another to pay a specified amount/
sum to the person concerned is
known as : ‘ ‘

(A) Letter of credit

(B) Cheque

(C) Bank-order

(D) Banker’s draft
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42,

44.

Which one of thé following is not

the function of the Reserve Bank

of India ?

(A) To regulat'éf the monetary
mechanism of India

(B) To conduct the banking and
financial operations of the
government

(C) To
Depository Receipts in India

issue the American

and abroad
(D) The implement the monetary
policy

The Capitals Adequacy Ratio and

requirements were prescribed by

one bank in India on first in April,
1992 which was that Bank ?

(A) Reserve Bank of India
(B) State Bank of India
(C) The Chartered Bank
(D) The Gryndlay’s Bank

What is E-banking ?
(A) Efficient Banking
(B) Electronic Banking
(C) Effective Banking
D) Earrﬁng Banking
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47.

Here are two statements :

(1) IFCI stands for Institutional
' Finance Corporation of India.

for State

(2) SFCs stands

Finé.ncial Corporatiohs.
Now, select the correct one out
of the following :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct
(D) Both 1 and 2 are incorrect

Country A produces two goods X
and Y at a higher cost compared
to country B. Business can still
tgke place' between the two

countries on the basis of :

(A) Heckscher Ohlin theory

‘ (B) Product life cycle theory

(C) Theory of comparative cost
advantage

D) Porfe:’s theory

The most important part of the

balance of payment account is :

(A) Unilateral tlfansférs

(B) Capital account

(C) Accommodating entries

(D) Current accounf
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48.

49.

SDRs stand for:
(A) Special Drawing Rights
(B) Special Dollar Rights

(C) Special Drawiné Regulations

(D) Special Drawing Rules

The institution which promotes
investment in the ECAFE region
of public and private capital, is :
(A) The International Finance
Corporation

(B) Asian Development Bank

(C) International Development
Agency

(D) World Bank

The most favoured nation clause

permits :

(A) Special treatment only for
the favoured nation

(B) Trade on nox;—discriminatory

basis

(C) Exclusion of

certain

countries from trade

None of the above

49.
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ROUGH WORK
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